ω N S.H Creel Contracting Ardito Construction DAF Concrete NAME OF COMPANY Results of Request For Quotes (RFQ) for Stormwater Infrastructure Repair @ 3281 Mustang Dr Quote Amount \$40,702.20 \$72,743.00 \$63,449.82 PUBLIC WORKS DEPARTMENT Recommended for the award at \$40,702.20 REMARKS

(41	873	unread)	١.

Infrastructure Repair

From: Dwayne Eberhart (deberhart@cityofpowdersprings.org)

Date: Friday, August 19, 2022, 12:24 PM EDT

The City of Powder Springs is requesting your quote to perform repair work to a Storm Water Drain located at 3281 Mustang Dr. as per the attached pay items and quantities list.

You are required to submit your quote no later than 12:00pm, Friday, August 26, 2022.

FAMILARIZATION WITH SCOPE OF WORK

Before submitting a proposal, each Respondent shall familiarize itself with the scope of work. Laws, regulations, specifications, standards, and other factors affecting contract performance. The respondent shall be responsible for fully understanding the requirement of this proposal and the resulting contract and otherwise satisfy itself as to the expense and difficulties accompanying the fulfilment of this proposal and resulting contract requirement. The submission of the proposal constitutes a representation of compliance by the Respondent. There will be no subsequent financial adjustment for lack of familiarization of scope of work. Please ensure that all questions are addressed before you submit your quote.

*All questions must be submitted to me via email.

Exhibit A

Job name	3281 Mustang Drive				
Item Number	Roadway Item	Units	Quantity	Price (\$)	Amount
150-1000	TRAFFIC CONTROL	LS	1	\$2,000.00	\$2,000.00
441-0014	4"CONCRETE DRIVEWAY	Sq. YD	25	\$150.00	\$3,750.00
318-3000	4" AGGREGATE BASE COURSES UNDER PIPE	SY	300	\$10.00	\$3,000.00
210-0100	GRADING COMPLETE	LS		\$15,000,00	\$15,000.0
165-0030	MAINTENANCE OF TEMPORARY SILT FENCE	LF	320	\$1.00	\$320.00
171-0030	TEMPORARY SILT FENCE, TYPE C	LF	320	\$3.00	\$960.00
550-1180	30" DIAMETER CONCRETE STORM PIPE(RCP)	LF	125	\$300.00	\$37,500.00
610-1880	REMOVE STORM WATER PIPE ALL SIZES	LF.	125	\$20.00	\$2,500.00 \$1,000.00
700-6910	PERMANENT GRASSING (in kind)	AC	1	\$1,000.00	
700-8000	FERTILIZER MIXED GRADE	TN	11	\$100.00	\$100.00
	Subtotal				\$66,130.00
	Allow for Contingency 10 %				\$ 6,613.00
	Total			\$	72,743.00

DAF Concrete, Inc. - 8.26.2022

Dwayne Eberhart

Public Works Director

3006 Springs Industrial Dr.

Powder Springs, GA 30127

o:770-943-1666 c:

deberhart@cityofpowdersprings.org



Ardito Construction Company Inc.

1290 Austell Road, SE

Marietta, GA 30008 ARDITO CONSTRUCTION COMPANY INC. GEODICIA UPILITY CONTRACTOR E-mail:

Estimate

Date	Estimate #				
8/26/2022	997				

Name / Address	Project
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Mustang Drive 3281 Storm Drain

		Unit	Unit Price	Total
Storm Drain Repair				
3281 Mustang Drive				:
- Traffic Control - 4" Concrete Driveway - 4" Aggregate Base Course Under Pipe - Grading Complete - Maintenance of Temporary Silt Fence - Temporary Silt Fence, Type C - 30 in R.C.P. Storm Drain Pipe - Remove Storm Water Pipe All Sizes - Permanent Grassing (in kind) - Fertilizer Mixed Grade Subtotal: - Allow for Contingency 10%	25 80 1 100 100 125 125 0.06 0.025	AC	2,800.00 71.55 48.50 15,863.60 4.00 4.00 218.94 30.00 21,780.00 5,000.00	2,800.00 1,788.75 3,880.00 15,863.60 400.00 400.00 27,367.50 3,750.00 1,306.80 125.00 57,681.65
lease Call Me If You Have Any Questions Or Concerns		imate		

Estimate lotal:

\$63,449.82

Job Name:					
3281 Mustang Drive					
Item Number	Roadway Item	Units	Qty	UP	Total
150-1000	Traffic Control	LS	1	\$ 1,000.00	\$ 1,000.00
441-0014	4" Concrete Driveway	SY	25	\$ 54.00	\$ 1,350.00
318-3000	4" Aggeregate Base Course under pipe	SY	70	\$ 10.00	\$ 700.00
210-0100	Grading Complete	LS	1	\$ 9,500.00	\$ 9,500.00
165-0030	Maintenance of Temp Silt Fence	L F	50	\$ 1.00	\$ 50.00
171-0030	Temp Silt Fence	LF	50	\$ 5.50	\$ 275.00
550-1180	30" Storm Drain RCP	LF	125	\$ 185.00	\$ 23,125.00
610-1880	Remove Existing Storm Drainage	LF	125	\$ 8.00	\$ 1,000.00
700-6910	Permanent Grassing	AC	1	\$ 1.00	\$ 1.00
700-8000	Fertilizer Mixed Grade	TN	1	\$ 1.00	\$ 1.00
	Subtotal				\$ 37,002.00
	Allow for Contingency 10%				\$ 3,700.20
	Total				\$ 40,702.20